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HUT-1 Part-1

1 When [ went back to my hometown three years ago, I found that a lot of changes
a. had taken place '

b. have taken place
c. arc taken place
d. were taken place

J«Y Answer _ ‘ I__J
2 Sam the marathon for the first time in 2009,
a. has run

b. ran

¢. is running
d. runs

Jad¥ Answer L
3 Antonym of word AWARE ' 1!
a. Uncertain

b. Ignorant

¢. Sure | ‘ ' |
d. Doubtful _ : )

3 Answer L1
4 Plural of word Loss-
a. Lossess

b. Losses
¢. Loses
d. None of these

IIY Answer
5 My hate eating pasta.
a. childes

b. children
c. childs
d. chjldrens_

J«IX Answer ' [
6 Why do change color in Fall?
a. leaves :

b. leafs
c. leafl
d. leafes

Ja Answer : ' |
7 Choose the correctly spelt word.
a. Commettee

b. Committe
¢. Comittee
d. Committee



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

}1

- 3l Answer

Find the correct spelt word from the alternatives given?
a. Acurrate :

b. Accurate
c. Acurate
d. Accuratte

JaR Answer
9 This newspaper is a BIWEEKLY,
a. The newspaper is published once a week

b. The newspaper is published three times a week
¢. The newspaper is published twice a week
d. None

I} Answer .
10 | We usually don't publish articles we don't PREVIEW.
a. We usually read articles before publication
b. We do not read articles after publication
c. We read articles the day we publish them
d. None of these '

I Answer . ] [
1 One who studies the patiern of voting in election ' ' ;1

a. Anthropologist ' '

b. Cartographer

¢. Laxicographer

d. Psephologist

IR Answer L

12 | A speech made withoGt preparation 5
4. Impromptu ] . : ; i
b. improvisation . 1
C. unprepared ]
d. extempore ' -

I} Answer L] :
13 | Not allowing the passage of light, l 2.

a. Oblique
b. Opaque
¢. Optique
d. Opulant

JaR Answer L
14 | One who looks at the bright side of things
" | a. Theist

b. Pessimist
c. Atheist
d. Optimist

NN a
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_—WV ——— o e e e ot i AR T ” W
A Jad¥ Answer L
15 | Youneed not come unless you want to. Which of these resembles the sentence?
a. You don't need to come unless you want to
b. You come only when you want to : i;
¢. You come uniess you don't want to ;
d. You needn't come until you don't want to l‘
IR Answer ‘ [ | !
16 | U1 754853 T 5 B @Y I H T i g |
What is the difference in the place value of 5 in the numeral 7548537
a. 49500
b. 49950
c. 45000
d. 49940
JalX  Answer ' [ ]
17 | % 1 301 WS 9 94 # g 6| I1a 20 a9 Uga, H @1 31 s &1 3G 10 T
o, <t A 3 adum F oy fepert 81
A mother is twice as old as her son. If 20 years ago, the age of the mother was 10 times the
age of the son, what is the present age of the mother? '
a. 38 years
b. 40 years
c. 43 years
d. 45 years ’
& Answer , L]
18 | fRR ST  Up A1 &1 Td 5{apH/eel &1 Ta) & [URd afe 718 31 779 31pal/de 2, a1
Tt &t Tifa @ gl | |
The speed of a boat in still water is Skm/hr. If the speed of the boat against the stream is 3 |
km/hr, what is the speed of the stream?
a. 1.5 km/hr
b. 2 kin/hr
c. 2.5 km/hr
d. 1 ke/hr
3o Answer ' L1
ls | T URY BE Hel H U b Bl R TPl § AR g8RT UISY 12 Ul § od &) @I
Yol 81 gie <1 argTt % T WY e far S, Y ¥ o s k|
A pipe can fill a tank in 6 hours and another pipe can empty the tank in 12 hours. I both the
pipes are opened at the same time, the tank can be filled in
a. 10 hours
b. 12 hours
¢. 14 hours
d. 16 hours
JaY Answer L
20| U GPFGR TP 9% DI T 2500 W SO §1 UG 9g %1 OFId Hed @ 2000 &, aF A1
TR damng| - S
A shopkeeper sold an article for Rs. 2500. If the cost price of the article is 2000, find the
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profit percent,
a. 23%

b. 25%
c.27%
d. 29%

J&IN Answer

wam%r 5d BY 500 HIeR qrars ?m”qao-gaﬁztﬁﬂzﬁmmﬁm%wew%ﬁﬂr

TS @R

A running man crosses a bridge of length 500 meters in 4 minutes. At what speed he is
running?
a.85km/s
b. 7.5 km/s
c. 9.5 knv/s

d. 6.5 km/s

24
JIR Answer

¥ | T I P 8 waw B o g 40 HaTge g |
mwmsgwﬁmwwmmmwﬁmé:wmﬁﬁ |
ST 311 T B | 3

The average age of a committee of 8 members is 40 years. A member aged 55 years retired
and his place was taken by another member aged 39 years. The average age of present
committee is; , . i
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.l a. 39 years

b. 38 years Al
¢. 36 years
d. 35 vears

3o Answer L
26 4omaﬁaﬁwagsaﬁ%fuﬁawaﬁmﬁlﬁmaﬂﬁmm dl I
| 3N g B U 7Y BT 3G SR SreaTas B g A |

The average age of 40 students is 8years. [fthe age of the teacher is also included, |
then their average age increases by one year, What is the age of the teacher‘?
a. 45 years

b. 49 years

c. 38 years .
d. 40 years _
3R Answer [ |
27| ¥ 16 Wid Tobell I AT & 3116 fobell I ol & 22 Ui [l &1 arTd & dR [y
I & I foyarar o g1 fyor 3 e e | |

Eight kilograms of rice costing Rs.16 per kg is mixed with four kilograms of rice costing Rs,
22 per kg, What is the average price of the mixture? ‘
a. 20
b. 18
c. 16
- d. 19

Jai¥{ Answer L]
28 w@wﬁmaﬂaﬁmwgmaﬂmﬁm sg%lawam‘fa?qﬁrmmaﬂ&rrgzs
ay grift| o aef gt wfien @t arg @ At

The ratio between the.present ages of Ram and Sita is 8:9 respectively. After 4 years Ram ]
age will be 28 years. What was Sita’s age 8 years ago“?

a. 18 years

b. 21 years

c.  19years

d. 20 years
Jad¥ Answer L
2 | 05 i U B B! 24 & # G0 Ha ol S B B 12 Afad (e o § G371
E2al

5 men can complete a piece of work in 24 days. In how many days will 12 men complete the
same piece of work?
a. 8

h. 6
c. 10
d. 12

Jad¥ Answer . ' L |
3 | g ¥ 9aY 981 ok |

Largest fraction among group (6/7, 6/8, 6/9, 6/12)

a. 6/12

b. 6/9
c. 6/7
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L,
s,

times itself in

[ T d e/8 |
3 Answer T 3 GITFﬁ% L] Tf‘ﬁ
M| TP TR Tl S R 5w & 39T gl | T§ YT 3T 3G T |
| foe auf & gt

A sum of money placed at compound interest doubles itself in 5 years. It will amount to eight

a. 15 years

b. 12 years

¢. 10 years

d. 20 years

Ja¥ Answer

2] S e R 3 36 % I o7 A o 71 5 SIS

The two numbers whose difference is 36 and the ratio between them is 7 16 are

a. 64,28

b. 21,48

c. 14,32

d. 28,64

Jai¥ Answer

Hfewy ok 3 TSP

will earn per day

33 33@&{%4%&%@5@%3150@%%1a‘rsgwéﬁmzra

gt framr wam

3 men or 4 women or 5 boys can earn Rs 150 daily. Then 5 men with 8 women and 3 boys

a. Rs 640

b. Rs.620

¢. Rs 660

d. Rs 680

¥ | HIYRY & IR giy

years is

ﬁamwm_mws1zoowﬁﬁv1sssaml

The rate percent per annum simple interest at which Rs 1200 will amount to Rs 1668 in six

a. 12%

b. 9%

c. 6.5%

d. 7.5%

J@Y AﬂSWBI‘

L

35| U 31T ! URfY 3R dars Hagr 40 O, aﬁuziﬂ.%lwﬁaﬁﬁwaﬁi

The perimeter and length of a rectangle are 40 m and 12 m respectively. Its breadth will be---

a. 10m

b. 8m

c. bm

d 3m

3 Answer

HIT-2 Part-2

3% | g PTAM YHTA BT 81 The value of g is maximum at

a) %WT U equator

b) d pole
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- c) SM¥P FHTTE W higher altitudes |
d) Gl & F% 7 at the center of the earth

Jai¥ Answer L]
7 | G oo & eigTe g 8, 91 g

Two vibrating systems are said to be in resonance, if their

a) ST AT § amplitudes are equal

b)  TUHF IO G temperatures are equal

c) GﬂgﬁﬂT A § frequencies.are equal

d BIIAYEH & phase values arc equal

Ja¥ Answer _ L]
38 uﬁ%@ﬁqﬁaﬂﬁmuﬁmﬁmw%ﬁvﬁamﬁﬁﬂﬁmqﬁﬁl

If linear momentum is increased by 50%, the kinetic energy will be increase by
a) 125% -

b) 150%

c) 175%

d) 50%

JaR  Answer ]

» T8 A R IR e 9 1M 0 oo 5w A e g o

0
The temperature at which the speed of sound will be double of its value at 0 C.

0
a) 919 C

0 ] \ i
b) 850 C |

0 i - ‘)’ .

%) 800 C - o i-|i|
B&R Answer - B L \|':
4| IS R e & Ozone layer is present at i
a) @f‘Wﬂ'&R Stratosphere _ :
b) STORBRR Ionosphere : i
¢) YHRPBRR Thermosphere . #

d) UCHpIR Atmosphere : |
| 3R Answer ' ] .
4| TP 90T 1 died 95 8, a6 [9oae o |

pH of a solution is 9.5, the solution is..... ..
2) IR neutral

b) ST acidic
¢) &RK Basic
d) ThIcNS Amphoteric

JalX Answer ‘ LI
42 N2 BT & N2 molecule contains :
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a) PIda< ETUCS" Covalent bond
b) UIE d0g Ionic bond

c) EB@GF[ sivg Hydrogen bond
d) Hefei U8 Metallic bond
3R Answer

MEHfeTEa 33 e U anTefes oo gl
Which of the following is not a thermoplastic

a) ShANSE Bakelite
DEIURIE] Nylon

c) tﬂ?ﬁ?ﬁﬂ? polystyrene
d) Tt polythene

I Answer [ ]

44 -1
: d/dx [tan (sec x + tan x)] =
a) 1/2
b} -1/2
o
2
' d) 1/_1+x .
3« Answer ' L] '
45 -1 o
2tan x= : . ,
-1 2 .
a) tan {2x/1+x )
, b) tan-1 (2x/1-x2) .
-1 T e ———
c} tan (x/1-2x) .
d} None ' )
JTR Answer ' |
2 2 ‘ - :
SHTTORTTT x /4 -y 14} SegraT 21 i ..
T} o 2
The eccentricity of hyperbola x /4 —y /4 ig
a) V2
b) 1/v2 ' %
c) 2 ' '
d) 1/2 .
3R Answer :l

2 2 ]
Iy = 6x AR x =3y e For 4 3 -
2 . 2 ’

Area enclosed between curves Y =6xand x =3y is

a} 5

b) 7 - N

c) 6 . ]
d) 8
Ja¥ Answer .

]
Www%ﬁﬁa@ﬁwﬁmmw%,w@ﬁﬁwaﬁ%l

The length of a simple pendulum is decrea

sed by 3%, the percent error in its period is
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a) 2%

b) 2.5%

¢} 1.5%

d} 1.8%

g Answer L |

9 | U TABR e 3 900 UI/ABUS BT oR J 9161 B 3R I BT KA 81 <G 31 79
P 360 ¥t § 1 98 TX....... e R e & Ripea @t 2

Gas is leaking out of a spherical balloon at the rate of 900 CC/Sec. The rate at which the
surface is shrinking when radius is 360 cm is

a) -5 cmy/sec

b) 5 cm/sec

¢) 4 cm/sec

d} None _ :

IR Answer : : L]

30 logxdx =

a) xlogx

b) xlogx - x+c

c} (Iogx)z/z +c
d) None
Jod¥  Answer '
S| T fhed aad 3 @ SR Yard vt i 8 3
The material with the following crystal structures are more ductile
a. BCC
b. THEIET FCC
c. Tt Hep | | - |
4. ¥ cuBlC -~ - .
JaR  Answer L]

52 W] ERA fgeTmH BId %l Alpha iron exists
a. Below 7680C

0 . |
b.  From 769 to 900 C :

0
C. From 901 to 1400 C

0 | |
d.  From 1401 to 1530 C !

J¥ Answer

L
3 HrEfaes aifeT & PR e P (AW b 18 TP [0I9A b T 37 G| |
S 3 | -
Degradation of mechanical properties leading to failure of component due to cyclic loading
is called :

a. ST Breaking .
b. THeHT Fatigue ' : i
c. SHITUT creeping ‘ C

d. ST yielding ~ :
I&R Answer L]
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0.1. The friction force would be
a. 3N '

100 NI &1 T fieh oo GRad! 9o 0% 3@ Rrae avtr &1 o 0.1 31 99,
T 7 g o
A block weighing 100 N resting on a horizontal rough surface with coefficient of friction of |

0% goliepd (B
R S e I iR o g Tl g

A helical spring is applied with an axial tensile load causing an elongation.
The nature of stresses induced in the material of the spring wire is '

a1 eR 3y 3T 5 Tt & 9 e, TTHT

|
The motion between the contact surfaces of two gear tecth is...... L. i /

a) Y& eI Pure rolling :
b) Y& RIS Pure sliding |

o) UM & qrY Trgle Rolling associated with sliding | | /
d) T i TATSFET Neither rolling nor sliding. J/ |
| ]
_:—. | |
U@ 3159

599 A T a‘amwﬁmmmﬁaﬁvﬁrﬁm—maﬁw i
HFHRATE ﬁmﬁﬁﬁaﬁ%%w@ﬁ%f i

2) 399 TR 99 The load i | |
b) STIGT TATYY The torque produced ' |'
©) RYTTIGE & UTEH The properties of the fual input i
DRkl ion rati

SIUTT Compression ratio o |

IR Answer : L1 .f 1!
LI (D) SR BT TS (v) @/ % 919 Sen s e oy 5 |
i
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The relationship between tool lifeand cutting speedm/min is given as —[
n
a) V T=C

n
b} VT =C

n
c) V/I=C

n

d T /v=C .
JaX Answer '
© Al RRRPE g AT ... Y fermebr ST 3

Ceramic tools are fixed to tool body by

a) Hresfe Seldering
b) sfohT brazing

c) afegT welding

d) FRAMRHT clamping

Jd¥ Answer _ L__‘
61 | il GEifeee /i Sien & yig T .. SEaEE ST

In oxy acetylene flame cutting, the metal is cut by
a) oed Burning metal

b) ¥¢fa iiadies Intensive oxidation
c) ReRm IEg Reduction process

d) Tﬂ?ﬁaqm CRIHY Molecular transfer ‘
Ja¥ Answer ' L]

62 ngﬁmmmﬁwumﬁmﬂﬁwwaaﬁ ............... HEd |

The process in which two or more cutters are used simultaneously is known as ) : |

2) B BT Face milling - - ‘ 7 |
b) 77 T Gang milling | 5
¢) 1 THIeAT Saw milling . _ il
d) gfeTepet FRITORT Helical milling

J©Y Answer L] |

6 | deg UHICSH .. T FER ST 8| Weld penetration is increased by ' |
a) dfeST HIC IR qreeT LI EED JGTHR Increasing welding current and welding speed |
b) TS e B TR 3R fcaT TS &Y gy Increasing welding current and |

decreasing welding speed. ‘
¢) A ET HBE 3R e wis & YCTDR decreasing welding current and welding speed ‘
d) 9feET FC Bl e 3R e Wt J dGIHR decreasing welding current and . I}

increasing welding speed. ‘ }

J©X Answer
64 SIS H I IR B 8ln thermodynamics, Heat and work are

| b) TRICT9 WU Extensive propertics
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T ¢) UISC BaRT Point functions
d) U1y BaRI=Y Path functions

J&R Answer ] \\
65 WWWﬁ?Sﬂﬁ?ﬁﬁaﬁﬁT%rH%WWHTUHH?ZMegC%,Eﬁ% -
I TTTA T 2 |

A'Carnot cycle is having an efficiency of 75%. If the temperature of the reservoir is 727 deg
C, then what is the temperature of sink? = :

0
a) 23 C

0
b) -23 C

0
¢) 0C

0
d) 223 C

JaR Answer ‘
55| T N ST Pt Ser o weaeT S R ST,

An Otto Cycle consists of the following reversible processes
a) 2 isobaric and 2 adiabatic processes

b) 2 isothermal and 2 adiabatic processes
¢} 2 isochoric & 2 adiabatic processes
d) 1 isobaric, 1 isochoric and 2 adiabatic processes

' J¥ Answer ‘ : L]
67 wmﬁemaﬁ;%amsmﬁn%%aﬂm%mﬁﬁ@nwm

Diverging portion of a convergent divergent nozzle will act as nozzle only when Mach
Number at throat is

a) U ¥ B Less than |

b) U & YA Equal to 1

c) W@IWETGTeater than 1

d) I 0 |

3 Answer L]

68 w?a&ﬁ?aﬁas'q%ﬁnmﬁmﬁmma@w@r ............ o forg fopan
| ST

In a shell and tube type of steam condenser, baffles are mainly used to
a) Increases the mixing of fluids

b) Increases heat transfer
¢) Deflect the flow in desired direction
d) Reduce the fouling of the tube surface,

Ja¥ Answer
| dee T & S Ulek o B T e g B AIfRT |

In order to have the maximum power from Pelton wheel, the bucket speed must be

8) SIT WIS & 319 & SRR Equal 10 half of the jet spoed *
b) Wi Wi & SIS Equal to the jet speed
| ¢) ST WS F T & TR Equal to twice of the jet speed
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d) SIc WIS ¥ 0 Independent of the jet speed

Jad¥ Answer . |_[
| S5 A% B oA an ... S PO S | |

In breakeven analysis, total cost consists of
2) T2 arTg @y F ixed cost + profit - o |

b) T8 wmra +feismt ﬁ?’IF ixed cost +sales revenue
¢) Mg aMd +uRad-1g CIFTd Fixed cost + variable cost
d) g arTe+uiad-a CIITTT+TH Fixed cost + variable cost + profits

J«d¥ Answer L]

U BT T BT 9o .. ST 7Y 70 SRy &1 ek s 3
Objective of time study is to determine the time taken by

a2) DA HHH Expert worker
b) T HHART New employer
c) qﬁT@ Apprentice

d) 3iaa 9o Average worker

JaX Answer L]
2 | 1w 9y %1 vEw it e 3 |

SIMO charts are used in
a) fﬂl’e‘; WSl Method study

b) Ul [IRAWYT Process analysis
c) HIZeh! AIRH el Micro motion study
d) W33 FAZewor Layout analysis
IR Answer L1 7 7 ‘
B | W T aie e d . TR UG 8 |

CPM (Critical Path Method) is technique that is based on
a) Yl Event - '

b) TS activity
¢) YcH] 3R TS event and activity ‘
d - al g7 3R A Eﬁ AT neither event nor activity

J«¥ Answer L] _ |
| R 235 B 92 U235ERT Ve feaT oraT 81 T gl , .‘

Uranium 235 represented by 92 U235. It represents !

8) 92 Y21 neutrons 3R and 235 Melq protons il
b) 92 Wer g protons and 235 g~ neutrons
¢) 92 UIeg protons and 143 QETR‘T neutrons
d) 92 &I neutrons and 143 Ue protons _
JaX  Answer ' L1 i
| AR ad IR A TR SUd ST B

Gantt chart provides information on

a) HIFd 9 A9 &7 ﬂ‘g’trqh Proper utilization of men and machine _ ' |
b) AU &7 I UaTe Proper flow of material
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¢) 3dIqA IHY-JRul Production schedule
d) AT USwdT ot Materia] handling devices
IR Answer

Heat addition during constant volume Process is example for
a) E;,?ﬂ TRt Open system 7
“ﬂ §¢ ToTei Closed system

c) Wm LI Isentropic system

d) :chrNone | ' :
@a%ﬁwwﬁﬁaaﬁw@mmw | -

The corrosion resistance of Steel is increased by adding

a) ﬁﬁvm Chromium | :

gases and maintain vacuum

d) ST P 38T BT To cool the condensate | 1
IR Answer [ ] '
qb el :

ﬁ@amﬁmmwmwﬁaﬂ .............

W

a) XI=h= T Rankine cycle
) b Carnot ¢

b ycle , | |
c) &ici % Otto cycle : k
|

ﬁmﬁlﬁﬁggawsrﬁdiéwﬁmm ............... yicera ¢

% Heat rejected in condenser in any power plant - '
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a) <30%

b) 10-20%

¢) 60-70%

d) I3 ol None

I« Answer ' : L]
82 | fad ageE el & fog sl g =sh. s gl

Highly efficient cycle for fixed temperature limits:
a) =% % Rankine cycle

b) HRAIC b Carnot cycle
c) 3{Iel @ Otto cycle
d) SISI<T Tsh Diesel cycle

JCI¥ Answer L
8 | 5t ot ol &1 T g9 Bl ol

Entropy of any system always
a) 7994 Constant

b) - o gl % Steadﬂy decreases
c) R-gI aa‘cﬁ g Steadily increases

d)aﬁg:rbprone

JaIR Answer ' L |

84 g?%wﬁiawar ............. W1 sifd Fea amgae Rufadl o i wgl O 1) wumdt
[

The. mode of heat transfer is dominant at very high temperature situations such as
furnaces? )

a} dI¢ Conduction
b) fafeu Radiation
c) Tde+ Convection
d) ﬁé :131 None

J¥ Answer

85 waﬁ?ﬁsﬂ?ﬁméﬂ?ﬁmmﬁéwﬁwwa?mwmwaﬁ%
B e ST 9T B |

In an IC engine, air fuel mixture in which there is just enough air for complete combustion of
the fuel is known as

a) Eﬁ*ﬂﬁ'ﬁ TBI90T Stoichiometric mixture
b) A 90T Lean mixture

<) = TH9UT Rich mixture

d) D15 To] None

J&X Answer [ |
86 | 719 faggd Yaa § WENT {1 1 saaeiRe S ... Eead

Practical thermodynamic cycle used in GAS power plants is
a) scd 9% Brayton cycle

b) PRAIC b Carnot cycle
c) =P T Rankine cycle
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Gauge pressure in ca uredby l ' | |||
a) -‘a:hIﬂET Manometer

.b) Eiiﬁﬁﬁ-‘/mum gauge :
c) Q:ﬁrn'-'ﬂE?Anemometer
_

U IThoes U §IC U39 90 qrgm Siaan
P IR BT I Y61 3| FERiRe F 9 ey gl

Consider a refrigerator

lowing is correct?
OP of heat pump

OP of heat pump-1
d) COP of refi gerator = COP of heat pump ‘ o
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[

22 | T% T &I U=itdd gHIT {59 s

1 ton of refrigeration effect is equal to_.....
a) 3.5 kJ/s |

b) 55 kJ/s
¢) 200 KJ/S
d) 210 KJI/S
J«I¥ Answer ‘ L]
93 Wwﬁﬁﬁwﬁmﬁ%ﬁﬂwﬁﬁawﬁ-wmmmwér

Rockwell C-scale is generally employed for measuring hardness of materials.

a) DI soft
b) PSR hard or DI soft
¢) PSR hard

d)aﬂiqﬁnone
Ja¥ Answer L
| I oI SR e o & ST Y BT ST 2

The ratio of lateral strain to linear strain is called
a) Modulus of elasticity

b) Modulus of rigidity

¢) Poisson’s ratio

d) Bulk moduluys

J&X Answer - L |
% | U9 H gie 819 WR 1O AT &1 argae,. L Gl

With increase in pressure the temperature of stéam formation will |
a) PH Decrease

b) SUTGT Increase

c) THM Y& remains constant
d) X[ B ST becomes zero L e -
J©¥ Answer | ' L]
% | ST 2GR § IS [ UbR 1 2l B |

The blade shape in impulse turbine is

a) MWTSA GHR B! Profile type
b) m circular

¢) Eﬁuﬁsﬁm aerofoil type

d)@\_c"straight

JaX Answer L]

97 wg@rmﬁmﬁﬁuﬂﬁﬁaﬁﬁu:ﬁ%m@ﬁsﬁﬁm-mmm
ST A U IS dIeX T BT E. HEar g

A device, whose function is to heat feed water by utilizing the heat in the exhaust flue gases
before leaving through the chimney is called
a) superheater

b) economizer
¢) air pre-heater
| d) ID fan
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98 ﬁmmwmm@mﬁww ................ RNEITETIT TN

In PERT (Program Evaluation Review Technique) analysis a critical activity has
| a) LI WA Zero float

b) SHiEHTH W Maximum float
c) ieHTH |MTq Maximum cost
d) AdH NI Minimum cost

3o} Answer — N
# | TR B F e et S 103 -7

The evaporator coils in the refrigerating chamber

8) S DI NG BT Absorbs heat

b) TRITP B Tuifed Hea Compresses refrigerant
¢) U &1 SR B Expands refrigerant

d) ST B YRGS Bl Rejects the heat

3©X Answer

]
O Y e Bl A B ..., SR T e 81 (G, 4 sie

The enthalpy of a pure substance is def
work]

a) H=U-RT/m
b) H=U-PV
¢) H=U+PV
d) H=U+PV/T
| J@¥ Answer

ned as [ H: Enthalpy, U: Internal energy & PV: flow



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai24

GET IT ON
Google Play

Answer Key of the exam held on 27 March 2022 for the post ;ﬁ%ﬁ;g@’(ﬁﬂech)

QNo |Answer| QNo |Answer| QNo | Answer| QNo | Answer
1, a 2. b 3. b 4. | b
5. b 6. a 7. d 8. b
9. c 10. a 11. d 12, d
13, b 14, d 15. a 16. b
17, d 18. b 19. b 20. b
21. b 22, b 23. b 24, c
25. b 26. b 27. b 8. | ¢
29. c 30. c 31. a 32. d
33. a 34, c 35. b 36. a
37. c 38. a 39. C 40, a
a1. c a2. a 43, a 4. | a
45, b 46. a 47. ¢ 48. c
49, b 50. b 51, b ' 52, a
53, b 54, d 55, b 56. | b
57. c ~ 58. b - 59, b 60. b
6. | b | 62 | b 63. | b 64. | d
65. b _ 66. 3 67. b 68. c
69. a 70. c 71. d 72. | ¢
73. b 74. c 75. 76. c
77. b 78. a 79. b 80. a
81. c 82. b 83. c 84, b
~ 85. a 86. a 87. a 88. a
89. a 90. a 91. 92. a

- 93, 94, c 95, b 96. a
97. b 98. a 99. a 100. c
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